Chemistry :

Section-A (Q. No. 051 to 085)
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The relation between n,, (n,, = the number of
permissible values of magnetic quantum number
(m)) for a given value of azimuthal quantum
number (/), is

(1) [=1m

=20% +1

@) I=2n_+1

=/+2

3) ny, 4 ng,

The element expected to form largest ion to
achieve the nearest noble gas configuration is :
(1 O (2) F

(3) N (4) Na

Which amongst the following molecules on
polymerization produces neoprene?

(1) H,C=CH-CH=CH,
Cl
|
(2) H,C=C-CH=CH,
(3) H,C=CH-C=CH

T
(4) H,C=C-CH=CH,

Identify the product in the following reaction :
+
N2 Cl

O
&

> Product
MgBr

.
N

The conductivity of centimolar solution of KCI
at 25°C is 0.0210 ohm™! cm™! and the resistance
of the cell containing the solution at 25°C is
60 ohm. The value of cell constant is -

(1) 1.34 cm™! (2) 3.28 cm™!

(3) 1.26 cm™! (4) 3.34 cm™!

(i) CuyBr, /HBr
(ii) Mg/dry ether

(iii) H,O
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st waien d@an (1) & et feu w0 a & fag
n, = (Yeo w&bieH q&l (m) & FIAT HqH Dbl
&) & 919 99y &

(1) 1="m

@) I=2n_+1

(B) n,=2"+1 (4 n_ =l+2

5 I o STIAFG: heaw I T o=
HE & Y qH Sfus S91 T SO, &

(1 O (2 F

3) N (4) Na

frfafad & ¥ @91 sgaeT ®E T M=
IS HOM?
(1) H,C=CH-CH=CH,

Cl

|
(2) H,C=C-CH=CH,

(3) H,C=CH-C=CH

T
(4) H,C=C-CH=CH,

Fr=fafaa afufrar & S & geatiwu)
N> Cl

(1) CU2BI‘2 /HBr
(ii) Mg/gTagot

(iii) H50 > See
OH
3 -0
MgBr

& .4

25°C q¥ KCl &% ¥R faeas &0 areiedn
0.0210 ohm™! em™! % &fix 25°C X famaw am
o &1 9aUy 60 ohm 3| 4 Reiss &1 99 % ¢
(1) 1.34 cm™! (2) 3.28 cm™!
(3) 126 cm™! (4) 334 cm!
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Match List - I with List- II :

List-1 List - IT

A. Coke I.  Carbon atoms are
sp3 hybridised.

B. Diamond II. Used as a dry
lubricant

C. Fullerene III. Used as a
reducing agent

D. Graphite IV. Cage like
molecules

Choose the correct answer from the options
given below :

(1) A-II, B-1V, C-1, D-III

(2) A-1V, B-1, C-II, D-1II

(3) A-II, B-I, C-1V, D-1I

(4) A-I, B-1V, C-1, D-1I

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
is called activation energy.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both A and R are true and R is the correct
explanation of A.

Both A and R are true and R is NOT the
correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

)

Homoleptic complex from the following
complexes is :

(1) Potassium trioxalatoaluminate (III)

(2) Diamminechloridonitrito - N - platinum (II)
(3) Pentaamminecarbonatocobalt (I11) chloride
(4) Triamminetriaquachromium (III) chloride

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound
is A B, then the value of x +y is in option
(1 5 2) 4

3) 3 4 2
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T -1 % - I & | fHas sl

-1 T - 10

A. ®F [ %ET g
sp> Had B ¥

B. @ . 9% T&h & &9
¥ SyEnT fepa e ®

C. palm 1. Sqam® & Hifd
SUA fopan ST 31

D. ¥®rEe V. fsagar &g

T fou g fomedt 9 ¥ @& SO gy

(1) A-II, B-1V, C-1, D-III

(2) A-1V, B-1, C-II, D-III

(3) AL, B-1, C-1V, D-II

4 A-1I, B-1V, C-I, D-lI

I 31w faw T ¥ | U B st A’ SR gEt

B ‘&re R’ fafea fear man @)

st A : fordt sifufsean & g e =1t &

Tl T

FRO R : afeRe el ERT SEentyd gAad

arfafyerd St sl A= Re™ S9a! Hell &al 7 &

UM B WU, |lhA0 el bedrdl & |

FUX fqU 1T YAl % ER W), A9 f§u T faweat

# ¥ w3 g

(1) A3 RSA 9 & oiX R, A &l 92 =me
&

(2) AR RIA g ¥, uig R, A &I 91 =re
T

(3) Add, wig R 3@ ¥l

(4) A 3Ed %, 9{g R 97 31

Frfafad dgpal & ¥ sHied TP &

(1) urefimm ZReieugre (1)

(2) sEUEHEIEEESR - N - wfemw (11)
(3) TeNHEHFEETewETe (1) FREs
(4) zrEuEZETEEREE (I1) wREe

T AT a1 @l A i B g 99 3o 21 d@ B
g ffas dgiad dxa s9mar 8 8k A & 9T
1/3 agehasE Tl & 93 2 1 afs it & g
AB, ® dl famedl § @ x +y BT A ET:

(1 5 2 4

(3) 3 4 2
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The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO _1200K , ca0+CO J

() Li2¢g 2) 1.76¢
(3) 264¢g 4) 132¢

Taking stability as the factor, which one of the
following represents correct relationship?

(1) TICl;>TICI  (2) Inly > Inl

(3) AICI>AICl; (4) TH > Tlly

Identify product (A) in the following reaction :
o)

@)

Zn— Hg
conc. HCl

ﬁj@
FPN
oS-

+ 2H20

Select the correct statements from the following :
Atoms of all elements are composed of two
fundamental particles.

The mass of the electron is

9.10939 x 10731 kg,

All the isotopes of a given element show
same chemical properties.

Protons and electrons are collectively
known as nucleons.

Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options
given below :

(1) A, Band Conly (2) C, D and E only

(3) A and E only (4) B, C and E only

m o 0 w »2
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20% & AT T &b 20 g B TH & d I
CO, % Fe T % oy 7@ faehed & : (Ca @1 GTHI
TN =40 %))

[Caco _1200K a0+ €O J

(1) 1.12g () 1.76g

(3) 2.64g (4) 132¢

i &t R Wd gu, Frfaiad & 9 sE-—ar @@
GaY o BT T 7

(1) TICl;>TICI  (2) Inl; > Inl

(3) AICI > AICl; (4) TI[ > Tl

et aifHishan @ s (A) &1 qgaTig)
0]

—Znlle, (A)+2H,0
T, HCI

ey

OH

)
OH
OH

CH
G 7
CH,OH

CH,
)
CH,

Frafafaa & @ 98 ®ol &1 g9 BT

A. G @ % TN & qA HON & S B 8

B. ?‘c@'—rwwmwwxlo—” kg B
|

C. frdh aa & ot geente g Tamfe ored
weidfd & ¥

D ﬁ%ﬁ%ﬁsﬁaﬁﬁﬁwwﬁqﬁwm

|

E. sieed & q] faaid ¥ wE] & 5 & qd
HU % T H AF

9 few o famedt ¥ @ w1 wAx gig ¢

(2) %a@ C, D &R E

(1) ®aa A, B3R C
(3) %aw A X E (4) %aw B, C 3 E
[ Contd...



64

65

66

67

68

For a certain reaction, the rate = k[A]2 [B], when

the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1) decrease by a factor of nine.

(2) increase by a factor of six.

(3) increase by a factor of nine.

(4) increase by a factor of three.

Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1" position of sugar is known as

nucleoside
Statement II : When nucleoside is linked to

phosphorous acid at 5"-position of sugar moiety,

we get nucleotide.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.

(4) Statement I is false but Statement II is true.

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?
(1) NH4 (2) H,O
(3) BFy (4) OH~

Which of the following reactions will NOT give
primary amine as the product?

Br, / KOH

(D) CH; CONH, —*—— Product

(i) LiAIH,
—t

(2) CH{CN —rr s Product

(i) LiAIH,

G) CH@NC (i) H;0 ®

Product

(1) LiA]H4
(4) CH3CONH2 W) Product

Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH,, AICl;, BeCl,, CCl,, PCI; :
(1 3 2) 2
(3) 4 “4) 1
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fope fafrse arfufspan & oo,

am = k[A][B] 1 519 B & @iwan & Rew T
TUA & e |igar O AT & Sl 5, a1 Wi
o

(1) = % U g =9 S|

(2) ® % T U I6 A

(3) T % T T To I

(4) AN & TR T TG S

A & ue fau MU E

FA 1 : fopel e & g a1 1 Rafg ey &
fffa s@rs @ gfreiags wed 2

FA 11 : 99 Jlereianss b srafer a5 ' -Rafa
T BRI 3T ¥ ST & I 7 F[FIsleEs T
BT ¥

FUX U MU HUAl % YR WX A fqu U faweat
H ¥ w8 I gl

() #= 18R w0 1 I 9 T

2) F1 1 R F9 11 I+ e/ )

(3) = 197 T uig F I 38 1
4) w1 o ¥ oig w0 I 8 ¥

faw T faeedl & & BT 3] / AT 3T 3T Bl
T(E HATE BT § 7
(1) NHy
(3) BF;

2) H,0
(4) OH~

frrfafaa aifufparstt & & BF-H SUE & &9
e UHE @ o ?

(1) CH, CONH, —22 XM, e
(2) CH4CN EK)LI;/;)Hé AT
(3) CH,;NC EL))L;;)Hé IR
(4) CH,CONH, Ei]))Lﬁ[Aé)Hé S

Frrefafaad & & 59 wliefi o o den e S
XA % TRIGH HIST H Ak A ST 373 AdA
T, T

NHj;, AICl,, BeCl,, CCl,, PCI;

(1 3 2 2

(3) 4 ) 1
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Which of the following statements are NOT

correct?

A. Hydrogen is used to reduce heavy metal
oxides to metals.

B. Heavy water is used to study reaction
mechanism.

C. Hydrogen is used to make saturated fats
from oils.

D. The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) B,C,D, E only (2) B, D only

(3) D, E only (4) A, B, C only

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is :

(1) 16 2) 32

3) 30 4) 18

The number of ¢ bonds,  bonds and lone pair
of electrons in pyridine, respectively are :

(1) 11,2,0 2) 12,3,0

3) 11,3,1 4 12,21

Which one of the following statements is

correct?

(1) The daily requirement of Mg and Ca in the
human body is estimated to be 0.2 -0.3 g.

(2) All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

(3) The bone in human body is an inert and

unchanging substance.

(4) Mg plays roles in neuromuscular function

and interneuronal transmission.

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Metallic sodium dissolves in liquid

ammonia giving a deep blue solution, which is

paramagnetic.

Reasons R : The deep blue solution is due to

the formation of amide.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the

(3) A is true but R is false.

correct explanation of A.
(4) A is false but R is true.
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fr=fafag & 9 a9-9 ®u9 98 W T 7
A, FTESIEH T STE AT a1 sifeREst A g

B. o @ &1 SuAnT sitaferan fopanfafyr & sreaae
C. TESH &1 SUAN dadl § g« Jarsl b 9

D. T % < ATl & S/ Uohd ey

fordlt 1

% g 9 H-H omey foaem ool =gaaw
E. ®wEgioe o @ afus el aigst &
T fou U femedl ¥ ¥ W@ IugE SO gg

(1) %aw B, C, D, E
(2) %a@ B, D

qfiTes W TaT ¥, SHh & "Wl Bl HIT (g)

(1) 16 2) 32

(3) 30 4) 18

U &, o omEHl, n oEHl X IoEEl b
TSB! Al B HEad HAT:,

(1) 11.2,0 2) 12,3,0

(3) 11,3, 1 4) 12,2, 1

fr=fofag wui & @ - W TP

(1) wa e & Mg X Ca @l &f¥e Smagderdn
0.2-0.3 g argmTtd @ TE 1

e TSEHl S Biehe WA § ATP &
IUGRT B ¥, % [0 T5—a2d & &9 H Ca
METH 2 |

MG SR ¥ &8 U S1feha 3T srufadHstia
e Bl

Mg siaxaifBrara dsfra srEdgomdr oiix
Sfaxqited Yoo § sifirer v 2

e <1 %o fow T ¥ U d et A it gE

® ‘&R R’ fafea fear man &)

AFa A : gifes Qifsad g9 oI § gahl

MY et 1 &1 fqaae Iar &, S ergas e 31
R : &0 i@ fq@@e TaEs & 999 &6 B

BT T

FUX fau T YAl b UR 91, A9 U T faeeat

o H A/ I gAY

(1) %&aﬁTRaﬁfﬂw%aﬁTR,Aaﬁﬂé‘fW
|

(2) AT RIA g ¥, uig R, A &I 91 e
T

(3) A 93 T 9{g R @A 2|

4) A @@ § g R 9 2|

2

3
4
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74  Which amongst the following options is correct
graphical representation of Boyle’s Law?

T T3> T>T,
P

)

- —>

2
() T,>T,>T,

v

3) T,

- —>
<

)
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g %7

N
T T,>T,> T,
P
Q)
.
2
T3\
vV—>
T3 T2
1 :
P
2) T,>T,>T,
1 /
K —>
N
T 13> 1> 1,
P
3) T,
T,
T
1 >
\Y%
Vi
v,

o —
o<

“
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The correct order of energies of molecular
orbitals of N, molecule, is :

(1) ols<o Is<o2s<o 25<(n2px=n2py)<

c2p, < (n* 2p, = T 2py> <o 2p,

(2) ols<oc ' ls<o2s<o” 2s<c2p, <

(T:pr =7 2py ) < (TC* 2p, = n*Zpy ) <c" 2p,

(3) ols<o'ls<o2s<o" 2s<o2p, <

c" 2p, < (anX =7 2py) < (n*ZpX =" 2py)

(4) ols<o Is<o2s<o 25<(n2pxz7t2py)<

(7'5*2px = n*2py> <c2p,< o 2p,

Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Chlordiazepoxide

(2) Meprobamate

(3) Valium

)

Veronal

The given compound
CH=CH - C|H - CH, CH,

X

is an example of
(1) benzylic halide (2) aryl halide

(3) allylic halide  (4) vinylic halide

Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include :

A. dipole - dipole forces.

B. dipole - induced dipole forces.

C. hydrogen bonding.

D. covalent bonding.

E. dispersion forces.

Choose the most appropriate answer from the
options given below :

(I) B, C, D, E are correct.

(2) A, B, C, D are correct.

(3) A, B, C, E are correct.

4) A, C, D, E are correct.
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)

3)

4

N, &9 % foTq onfvers Hereh! &l SHoiatl & Tl W
T

(1) ols<o Is<o2s<o 2s<(n2pxzn2py)<

* * %
G2pz<(7l'. 2p, =7 2py)<c 2p,
cls<c'ls<o2s<o" 2s<c2p, <
(7c2pX =7n2p ) (n*sz = n*2py)< c" 2p,
cls<o'ls<c2s<o' 2s<o2p, <
" 2pZ <(712pX = 7r2py)<(‘rc*2pX = Tc*2py)
cls<c Is<c2s<o" 25<(n2pxzn2py)<
(n* 2p, = " 2py)< 62p, < c" 2p,

I HB qH S 6T T T 3T H B
qifeicd 9 dafad g ?

(1) wARSTEIRES

(2) AWEHE

(3) dfeem

(4) IO

fear mar aife

CHzCH—?H—CHZCH3
X

P Th IaTELT 2|
(1) s 2ams  (2) W« Tomss
(3) Ufdfeew tags (4) aEHiae s@Es
FqeTvas 9@ o fhaT & arel & & 9

3pYT SR Gidw & 9 S B & o aftafaa
AT

A Tega-fega a@

B. fa-yga-uia fe-ga =«
C. TESSH A

D. wEEdn sEgd

E. warH Ia@

I e o freedt ¥ ¥ ww@ Suge faeed gho
B, C, D, Eqﬁ%|
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Which one is an example of heterogenous

catalysis?

(1) Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

(2) Hydrolysis of sugar catalysed by H* ions.

(3) Decomposition of ozone in presence of
nitrogen monoxide.

(4) Combination between dinitrogen and

dihydrogen to form ammonia in the

presence of finely divided iron.

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true and R is NOT the
correct explanation of A.

3)

4)

A is true but R is false.
A is false but R is true.

The stability of Cu?* is more than Cu™ salts in

aqueous solution due to -

(1) first ionisation enthalpy.

(2) enthalpy of atomization.

(3) hydration energy.

(4) second ionisation enthalpy.

Consider the following reaction and identify the
product (P).

CH, — CH — CH — CH,

| | HBr
CH, OH ——> Product (P)
3 — Methylbutan—2 — ol
Br

|
(1) CH, —(|:—CH2 - CH,
CH,

(2) CH,CH=CH-CH,

3) CH; - |CH — ‘CH —CH,4
CH3 Br

CH
|
(4) CH;~C-CH, Br
|
CH,

3
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fr=fafag & 9 sm-—ar faudil ST &1 Sere

¥?

(1) B & ofiaaEs! @l SuRdAfa ¥ dehl
STZONFATSS BT TTHT ZIZSTFATES § STTFAIB LT

(2) 9T @ HY el a0 Sdfa Samgees

(3) LN HIFIGEES B SRS H S @l

U ZH
(4) wEW gftfa sma @ suftafa & smifwan M
% foT SEIEENT 3R SEEEsN & 9 Tare

I 31w faw T ¥ 1 U B afmem A’ SR gEt

% ‘Fro R’ fafea fear man &)

ARIE A : MA@ & Suseen H AfeaH @l

SRS ®1 T BT & fAQ SURT fopan e 31

F1 R : Afeem & 0, ¥ 3w foaigar adr 31

FUX fau 1T YAl % ER 91, A9 f§u T faeeat

# ¥ w8 s gy

(1) %&aﬁTRaﬁ?ﬁ'W%aﬁTR,Aaﬁﬂé‘fW
|

) Aa?gRaﬂ‘r‘w%,tr{gR,Aa%aé‘rw
T E

3) A ¥d 2 9y R 3@ 3|

(4) A @@ ¥ Uig R 9 2|

Steg faeaet § Cu™ @au &1 wfra Cut @

g offes Frfaiad & &R ean &

(1) wUH STEe Ty

(2) & T

(3) g St

4) Teim smaee o

frefafaa erfufrar w faem #ifvig ik saE (P)
% TR
CH, - CH - CH - CH,

| | HBr I
CH3 OH (P)
3 — UfaeeT— 2 — offd
Br
|
(N CH; -C-CH, —CH,
|
CH,
(2) CH;CH=CH-CH,
3) CH; —CH-CH -CH,
\ |
CH3 Br
CH,4

|
CH, - (|: ~CH, Br
CH

)
3
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Complete the following reaction :

OH
0 __HCN
o Xa
[B]

[A]

conc. HZSO4 . [C]

A 7
[Clis —
2 O
@ QCOOH
o o
(4) @COOH

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : In equation A G =-nFE__, value

cell”
of A G depends on n.

Reasons R : E
A.G is an extensive property.

is an intensive property and

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true and R is NOT the
correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

In Lassaigne’s extract of an organic compound,
both nitrogen and sulphur are present, which
gives blood red colour with Fe3™ due to the
formation of -

@) Fe4[Fe(CN)6L-XH20
(2) NaSCN

3) [Fe(CN)5 NOST_

@) [Fe(seN)]**
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frrefefaa sifHishan & QU wifw:

OH
o —HeN
CN

[A] (B]
iz, H,S0, S[C]
A

[C] % —

0 O

) QCOOH

o O

4) Q—COOH

T 1w faw T R 1 U B s A’ S gEl
H ‘@rw R’ fafea fear mar )

st A wli@r A G=-nFE, & A G @
A n 9 49T HXar 2

R R : By WO1-%@cs e & 3T A G T
AT JOTEH B

FUX QU T HUA1 & SER UX, - fqU T ferebeai
# ¥ wé I g

(1) AR RIA 9 ¥ X R, A &l 921 =men
i

A X R3Al @@ ¥, 0ig R, A &I 981 et
& 2

A 99 ¢ 9{g R @@ 2|

A 38@ ¢ g R 9@ 31

)

3
)

fereY Aiftte & @ TRy A TTEZo ok JehT L
Suftera € S Fed™ & gy freifafad & <99 & @rew
I B qifq @ T ST B

(1 Fe4[Fe(CN)6L-XH20
(2) NaSCN

(3) [Fe(CN), NOS]47

@) [Fe(seN)]**
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Section-B (Q. No. 086 to 100)

Chemistry :

86 Identify the major product obtained in the

following reaction :

0
+2 A
H
O

3 ’OH# major product
COO™

Match List - I with List- II :

List - I (Oxoacids List - II (Bonds)

of Sulphur)
Peroxodisul- L.
phuric acid One S-O-S
Sulphuric acid 1. Two S-OH, One S=0
Pyrosulphuric  III. Two S-OH, Four S=0,
acid One S-O-O-S

D. Sulphurous acid IV. Two S-OH, Two S=0

Choose the correct answer from the options

given below :

(1) A-L B-I, C-II, D-IV

(2) A-I, B-1V, C-1, D-1I

(3) A-L B-III, C-IV, D-II

(4) A-III, B-1V, C-II, D-I

NH_%)J+ +

@@

87

A. Two S-OH, Four S=0,

O w

88  On balancing the given redox reaction,

a Crzog_ +b SO%‘ (aq) +cH" (aq) —>
2a Cr** (aq) + bSO~ (aq) + % H,0(¢)

the coefficients a, b and ¢ are found to be,
respectively -
(H 1,3,8
3 1,8,3
Pumice stone is an example of -

(1) sol (2) gel
3) (4) foam

(2) 3,81
4 81,3

89
solid sol
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Frefaiaa sifwferar 9 ua g&g SdT &l Jeaiy ¢

0]

. +2[Ag(NH3)2J+ +

3-oH-A, IE I

QL

COO™ COO~
-1 & g - I & ary fes iy

T -1 T - 10
(AT & (sTrer)
HTFANST)
A. REE- . & S-OH, ’r S=0,
TR 3T % S-O-S
B. svrft® e Il @& S-OH, ©& S=0O
C. wEtEerte Il &1 S-OH, Ir S=0,
| % S-0-0-S
D. ¥@gy@ o IV. &1 S-OH, & S=0
e fau o famedl & 4 w& sAOX ghw:
(1) A-I, B-III, C-II, D-IV
(2) AL, B-1V, C-1, D-1I
(3) A-1, B-II, C-1V, D-II

4) A-II, B-1vV, C-11, D-I

31 TS STUETd SAffhaT Bl Fgfad B X Tk
a, b X ¢ HAM: U< BT F:

a Crzog_ +b SO%‘ (aq) +cH" (aq) —>

2aCr’t (aq) +b SOAZ[ (aq) + % H,0()
() 1,3,8 ) 3,8, 1
3) 1,83 4 8,1,3
JE TR IS §
(1) =iet &1 (2) o @
(3) 3@ dia @& 4) wm &
[ Contd



90

91

92

Which complex compound is most stable?

) [CO(NH3)4 (Hzo)Br}(No3)2
Q) [CO(NH3)3(NOS)3]
(3) [CoCl,(en), | NO,
(4) [Co(1\1H3)6L(so4)3

Consider the following reaction :

Identify products A and B.

e Oy
Cyomn
3) A@CHZI and B—@

Identify the final product [D] obtained in the
following sequence of reactions.

LiAIH H,SO
DL [A] 204, [p)

CH,CHO

>[D]

Na/dry ether

)

51

() C,Hy

(4) HC=C®Na*
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DT GHA AR TG s Wy § 7
) [CO(NH3)4 (H20)Br](NO3)2

2) [CO(NH3)3(NO3)3J
(3) [Cocl,(en), |NO,
(4 [CO(NH3)J A30,),

frefataa sifufspar o faar @ifsmal

@4}12—0@%,“3

I@El A 3R B @l ggaif|

(1) A=®CH3WB—®OH
() A=QCH20HWB=®I
3) A@—CH;WB=©—OH
) A@—CH3G?\TB—©—1

arfuferaren & Frfafaa w9 § wra sifew S [D]
%I gEdTT |

CH,CHO I;Iﬁ‘:gﬁ >[A] 2% [B]
Br
HBr . O/ .
=[] < gma D]

" @/\
>

() CyHy,

(4) HC=C®Na'
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94

95

96

Given below are two statements :

Statement I : The nutrient deficient water bodies

lead to eutrophication.

Statement I1 : Eutrophication leads to decrease

in the level of oxygen in the water bodies.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement I1 are true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is correct but Statement II is
false.

(4) Statement I is incorrect but Statement 11

is true.

Which amongst the following will be most
readily dehydrated under acidic conditions ?

OH
(1) CH,
H

OH OH

@y, C/i\/k

NO,
H
€) OH
OH
NO,
) )\/\(
OH
What fraction of one edge centred octahedral
void lies in one unit cell of fcc?

1 2 @

2 3
1

® 5 @ =

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron is :

(1) Fe,04 +CO - 2FeO + CO,
(2) FeO+CO - Fe+CO,

(3) C+CO,—>2CO

(4) CaO +Si0, — CaSiO,
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BIERARC DS R

w1 : Gve e 9@ e @ gare e $
Fo 11 : AW § Al § SHeriis & @Y
e B

FUX U T HUA % oy WX A fiu U faweat
ff@l'ﬂ?lﬁ'(gﬁ"‘{:

() #= I 8 ®A 11 I 9 T

2) F= 1 3R F2= 11 <+ e/ )

(3) =W 19d ¢ aig 4 11 3@ 2|

4) = 1 3Ed § wig Fa 1 9 31

frafafea & & dF-91 oFE IRRatadl ¥ a9y
atfes s & fstfaa g ?
NO, OH

(1 M\CH3

H
OH OH

@ e

H
3) /Kf/\OH

OH
NO,

OH

fce @l Uth Tdheh hiTSSehl H Ueh BIT Dhiad TCHAD
Tifer a1 femaer aigT SuRyd & & 7

1
(D 2 3

3 “)

A= |~
—_
Sl-

A & apuT & SR aren 9 § 900 K &
1500 K 3 & s st atfHishan & &1 W&l e, a8
3

@)
)
3)
Q)

Fe,0, + CO —> 2FeO + CO,
FeO + CO — Fe + CO,
C+CO, —2CO

Ca0 + Si0, — CaSiO,

[ Contd...



97

98

99

100

Which amongst the following options is the
correct relation between change in enthalpy and
change in internal energy?

(1) AH=AU - An RT
2)
3)
“)

Consider the following compounds/species :

AH =AU + AngRT
AH — AU = - AnRT
AH + AU = AnR

ii. |||

vil.

The number of compounds/species which obey
Huckel’s rule is .

(1) 4 2) 6

3 2 4 5

The equilibrium concentrations of the species
in the reaction A+ B=C+D are 2, 3, 10 and
6 mol L1, respectively at 300 K. AG® for the
reaction is (R =2 cal / mol K)

(1) 1372.60 cal (2) —137.26 cal

(3) —1381.80 cal (4) —13.73 cal

Which of the following statements are
INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.
B. The highest oxidation number

corresponding to the group number in
transition metal oxides is attained in Sc,O4
to Mn,O,.

C. Basic character increases from V,0; to
V,0, to V,0s.

D. V,0,dissolves in acids to give VO3_ salts.

E. CrO is basic but Cr,O5 is amphoteric.
Choose the correct answer from the options
given below :

(1) A and E only
(3) C and D only

(2) B and D only
(4) B and C only
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frefafad faeel & @ S T giads o
A ST greaa & S/ 98 d9y § 7

(1) AH=AU-An,RT
) =AU + An RT
(3) AH - AU = — AnRT
(4) AH+ AU =AnR
Frefafad Qe / @ishs w fmmr St
NG
o)

©
| v, N
@
A vi- ©
Neoe

T Tohol [TOH T 9T i e ATl [ arefie
B T T
(H 4
3 2

300 K 9x sfyfeear A+B=C+D # @isis &\
TR Figdtd %9l 2, 3, 10 3K 6 mol L1 ¥}
arfafopar & fiw AG® %: (R =2 cal / mol K)
(1) 1372.60 cal (2) —137.26 cal

(3) —1381.80 cal (4) —13.73 cal

frafafed & & B9 H97 T TE &7

A. whisgw & sifiiad @it d@hav agd MO
STFAES SN & S Sl B ¢ |

B. e TEA1 % €A STAaH SaIIDh I AT HHHIT
&1 sTreEmEst # Sc,O5 & Mn,O, ® T &t
2

C. V,0;& V,0, 8 V,05 & &K I 9T &t
RELICES IS

D. V,0, st ¥ gt VO, @@ I Fl

E. CrO ami® & siaf% Cr,O5 SWaet ¥l

T fu o fawed ¥ ¥ @ sOX giTg

iii.

(2 6
QO

(1) ®aa@ AR E (2) ®aw@ B &k D
(3) W@ C X D (4) FHaw B 3l C
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